(=)A2F SRR MP o BOFE RE ST RT o BT AR
(Z)diprpr bgpght 8 » 5820 % > & 7 244 30 21(600 )~ & f 1

(s EZ Q1)L EE NP1 L5 1 8-

(Z)=Ra*4 0 GPrFEE 2 hEpEORT AR R £

. 3iE- %40 7 8:(140 =) -

2.3iEo = 4c 14 2:(280 =) -
B X 4o 21 BR(420 R) -
HEE = 4o 30~31 B:(600~620 <)
(2)27 PAGHE 2 k7 QE2 P T b 2pr & 88(160 ~) 3
(I)ER BB & 47T
LEFAE BRZE CBHFIALEENDEERYE -
2L BRT LB EREPI20A 0 E I BB
B 4§~ dr A T RAFRD A S LR
(F)2BERp 2L P EERYE -
()15 gp1 | e 1084 PP e BoAgE 4 PPl X fogk)o
(C)F " PFEREIF A IFEN L d o RiE 4R A gk
(A)skptfirmbEipe ik

V)

Bl (4t 1 ) iR® 2 p (L5 2 TP REHHL IP)IEE
g KL AR



